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L 1260+ 15+7="7

1)12
2) 58
3) 122
4) 588
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2 |f 45— [28 — {37 — (15 - *)}]= 58, then * is equal to :

(1) 20
(2) 25
(3) 19
(4) 18
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MISSION SSC -2024 I ¥sa9 - (1)

Which of the following will come in place of both the
guestion marks in the following equation?

128 +-16 X ?7-7X

2—

72 —8 X 6+.72
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128 -+ 16 X ?—-7X2

72 -8 X 6+ ?2
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Simplify: 18 —

MISSION SSC -2024
[5—{6+2(7—8 — 5)}].

(1) 13
(2) 15
(3) 27
(4) 32
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When simplified, the product(l — %) (1 — %) (1 — =

gives.

oe Wellpd fbaramare, @ (1-5) (1 -3) (1
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* 3D -H (14 D)
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995 .
The value of 999@ x 999 js:

AT 3T P

(1) 990809
PARCELISE]S
(3) 998999
(4) 999824
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38

1 2 3 4 5 6\ .
(999 ;+999; +999; +999; +999; +999; )IS

simplified to:

WAPLLY,
(2) 5979
E)ELLY!
(4) 5997
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9 Thevalueof 1+[1+1+{1+1+(1+1+2)}]is:

(1)

(3) 1
(4) 2
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1+1+1+1+ + —is equal to:
L T s

1+—+—+-= + — §gRIgR
2 4 7 14 28 %

(1) 2
(2) 2.5
(3) 3
(4) 3.5




MISSION SSC -2024

11 3. 1. ,2_,
1+4+53+35-.
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2 s B2l —0s+ 2 -1H]]
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f2of2of 2 of 504 = ?
7 9 24

(1) 63
(2) 69
(3) 96
(4) 84
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15 20f168>< 15+5+?=549+9+ 235

(1) 107
(2) 174
(3) 1

(4) 296




(1) 0.006
(2) <

(3) 0.6
(4)6




MISSION SSC -2024

17 9.120f32 s 520f Z=7?
9~ 11 79
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2 1
+5(5-3)
4

3

4

3 1
73735

Simplify :

1

3

2
1=
3

(1) =
(2)=
23

(3) ==

23
(4) p
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2 Z_Of_ (1)1
(2)1-
(3)25

(4) 3
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20 If— = — then the value of batab, iS :

6a —5b

.qﬁa 4 Fﬁ6a+4bcbll-||-|%

(1) 4
(2) 1

(3) 1%
(4) 2




MISSION SSC -2024 IT¥- =9 -

2 _ 2
21 Ifg=f,and2=iithmwizazwz
b 5 c 16 c“+a

1

€=
7

(2) ¢

5?3

(3;

(4) None of

these
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If 2 =x+ 1 — , then the value of x is:
1+ —

3+

e 2=x+—r — A xFHTAFE:
1

1+
T4 (1) 5
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23 3 5 7 9 11 13
+ + + + + e T
1222 2232 3242 4252 1522 272 92 102

IS :

(3)1
101
100




